Name: (H) Weekly Math Review — Q3: Week 5 Teacher:
Monday Tuesday Wednesday Thursday
Solve, Find the quetient. Solve. Find the quotient.
17.003 — 0.374 2 5 _ 7.31x0.98 1.3 _
5 9 4 5
87.3 + 4,898 136.32 + 6.4

Fill in the blank. The ratio of cookies to If James can swim 10 laps | A factory warker can make
- glasses of milk is 3:1. If in 23 minutes, what would 14 products in 45 minutes.
7 ft. = inches | there are 25 glasses of milk, | be his expected time for 15 What is the worker's unit

how many cookies are
there?

laps?

rate?

What is the value of
7x {3x + x), when x = 87

Evaluate the expression.

Write an expression that
represents the product of g

Write an equivalent
expression for 36x + 12

ns21

to represent the number of
minutes Martha exercises
each day.

80+ (8Bx4)+2 and 8, divided by 4,
List 3 values that would Solve for y Martha always tries to Draw a number line to
make this inequality true, exercise at least 30 minutes represent the inequality.
18=y-37 a day. Write an inequality

y<3

F 3

-
>

Kelly ran 2 miles and burned
240 calories. The next day she
ran 3 miles and burned 360
calories. The next day 4 miles
and 480 miles. If this pattern
continues, how many calories
will she burn if she runs 8
miles?

Find the area.

Find the rule. Solve for n.

X Y
12 7
15 10
20 15
n 17

Rule:

A smaller square is located
inside a larger square. The
length of the smaller square is
7 cm, and the length of the
larger square is 12 cm. Find
the area of the section outside
the small square, but inside the
larger square.

L

Find the area of a
paralielogram with a base of
2 Y2 feet and a height of
7 % feet.

Findthe area of a
parallelogram with a base of
2.45 cm and a height of
4.7 cm.

Find the area of a
paralfelogram with a base of
12 inches and a height of
6.3 inches.

Find the area of a
parallelogram with a base of
2 feet and a height of 10
inches.

Find the base of a
parallelogram with an area
of 51 cm? and a height of 17
cm.

Find the height of a
parallelogram with a base of
4 yards and an area of 26
ydZ2,

Find the area of a trapezoid

with base measurements of

4 inches and 6 inches and a
height of 7 inches.

Find the area of a triangle
with a base of 14 cmand a
height of 10 cm;

=
O =
0
3

Find the area.

Christian is going to paint the

wall underneath his staircase.

How many square feet will he
need to paint?

124

10 ft.

Candice is going to replace the
top of a table with a new piece
of wood. How many square
feet of wood should she
purchase?

2.

}
le‘t.

L

121t

Find the area.

3 ft,

5 ft.

a1t

5#.
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